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The figures in the margin indicate full marks
for the questions

Answer in Bodo

1. : 1x10=10

(7^) 'Rls^lddlPl 3P2TT?' 3TT^
73^I^R|R-4I 4>VHN<rn

(71) 'ant' in^

q[Rl<<i1 f^l
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( 2 )

(^) 'to '3RtoT-XTi^ -7:^
ton "tor totot?

(55) 'Oblique moment' Flto^ "nr

(^) '"ton to' "tomnrFT "tor',
Tf^ tototo "to to?

(^) '̂1n toto tor
tonto?

(^) ^rto : "tomr yi^nift' ^isfstph^
isr^^fTffton '"gnrf '̂ tottot Tnt#r tontof?

2. "31# to ^ : 2^5=10

("ni) 'arto' TSFtoton "atow "torfn
%to" tonr to# to to i#?

C"^) torfn =n-^K dHi^
"tor toton

arr^ In^r# #to I

^ -ftofi ton "^?n to to
toi

("n) to tonr "nrto am^Rnr snnrn tot tonrto
^T?n wntoW to i#?

(q) 'ant' Tg^qrnr^ ^rtorfn iftor aqtotx
•#nn# xa^toton "rtx# tontot toi

(^) 'nei^-s.In TOqr' xa^^ntotor xn
TT^Tl^sdn aMt<4iPi qiqr
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( 3 )

3. ^ to Tfhrtf^) ; 5^4=20

-'toj Tito' ^i^Rifliii "m
to^nto HiRk^i to;!

(73) to ; toim TTTtot' Ti^aim "m
toiTO TTitotRr "gto toi

(3) '^rto' la-^NM O'-^i^RiRmi ehsn^Rus' Tto®n^
to to Tito 2iniT4 ^T?to toi

(^) 'ton to' Tspanto Ts^totorr in
Trrato toi

(^) 'to torn' Tg^^nmn 7§^toton flesh of the
flesh, and bone of the bone tom
to#! to ^?

(^) 'tor ntoi^ ^ttir "^irr %nton ^h'
7§isn^Rrftm m ^hRi 4i^ hiRk^?

4. ijnt to^nr to ; 10x4=40

(31) ^FTK ntrrtn, 34^3 is-i fnf^t^
RttsNN tonr

3n

nr^n ^ to ^ l^nm toto ^1

%73isni 7§toto T^iantotor nr tontot
toto toi

3TTt "Q^RRR id'̂ i^RiR'̂ i Tito toto nr
Tn^nift n^ito nitot toi
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( 4 )

*TRHT 1^1

wrfwt

T^

HI'il'll ^<.|cl h1>31I hIhhi'M

t^TT^ ^WTTPTI

t i3^?n?fnfw
h)whw 13;^ ^srmRif^ ^T?n ^ i

(tt) '̂ #TTT to' ^ wfwt to I

'3Tto' y-yiiiw TTT ^lA-iR ^?iT to! to I

(TEf) "tort torrto ttrtst^... ton"

"I wto Tttofi Ti^sitorfto ^ tonto
^ntol toi

tok

^ ^'?1h

tok toM"^!

. tok ton toi! ^
3tr! ^hnPi <mi^i Ri<I

★ * ★
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